EXPRESS EXIT 4Xx4

4.07 REF

>
-

)

T.13 REF

COVER EXTENSION
A4 FLIP COVER
FGS-MEXC-E-A
(NOT INCLUDED IN KIT)

FLIP COVER OPEN VIEW

g ’ ! ' g | T 8 9 | 0
REVISIONS
CMO DATE  [APPROVED
40102336CMO | 29-DEC-16 | OAVL
40171866CMO  |24-AUG-2023] MAM
E |
a Q
‘@ﬁ F_l
( /,./-~—~""' I
L 15.930 REF
4 837 REF
SV
‘(f!ﬂ; LTI
) ,
k \ﬁ V = & >
/////—L_J )
SO VIEW
(1] COVER, EXPRESS EXIT 4x4 SCALE  0.450
— 4000 REF — \\\x

SCALE  0.450 FGS-MEXP-E-ABF - NC ? YELLOW
FGSB-MEXP-E-A/B/F | BLACK
44 STRAIGHT |
SECTION REF FGS-MEXP-E-A/B/F | YELLOW
205]  2gE
. CATALOG NO. COMPONENT LIST | COLOR
BRACKET, EYPRESS— @ COMMSCOPE, INC
EXIT 2X4 : '
MMHRHEU@RLREM) T KT, BRACKET, RESTRAINING, L/R., FGS
- 7.89 REF — (CUSTOMER DRAWING)
E >< P R E S S E >< ‘ T ENGINEER SIZE SCALE DOCUMENT NO.
ON TROUGH VIEW RUBEN ARVILLA AZ? 000 1147583 ADC
SCALE  0.450 REVISION] SHEET
@  CUSTOMER DRAWING 551 r s
| 2 3 4 4 b 1 | 8 | 9 | 10




2 3 5 ! 6 | 7 8 9 0
STRAIGHT SECTION REF EE#%T&TNGF%?EET
%////ﬁ INSERT, BLANK
T-SLOT ( — ) . BRACKET, FIBER
) — RETAINING LEFT
I
BRACKET / \
QUICK KNOB
ASSEMBLY
DETAIL A
OUICK KNOB
INSTALLATION VIEW
SCALE  1.900
INSERT VIEW
| WITH SNAP ON FIBER
i RETAINING BRACKETS
SCALE  0.500
\\—_/l/]’—A/V
INSTALLATION INSTRUCTIONS:
(1] CHECK COMPONENT LIST TO SEE IF COVER IS AVAILABLE ON THIS KIT,
2 PLACE FIBER RETAINING BRACKETS ON EXPRESS EXIT BY ALIGNING RAISED TAB COMPONENT LIST #1
ON BRACKET WITH CUT OUT ON EXPRESS EXIT AND ROTATE TOWARDS EXPRESS EXIT
UNTIL SNAPPED INTO PLACE. (OPTIONAL) DESCRIPTION Sk COMPONENT LIST # 2
EXPRESS EXIT 4X4 | DESCRIPTION QTY
3. INSTALL REMOVEABLE INSERT OF CHOICE (BLANK., RIGHT OR LEFT) BY DEPRESSING COVER. EXPRESS EXIT 2X4 | EXPRESS EXIT 4X4 |
TABS AND SLIDING INTO PLACE WHILE ALIGNING PINS. IF PINS DO NOT MATCH
HOLES, ROTATE INSERT 180°: HOLES ARE OFFSET TO PROVIDE CORRECT PLACEMENT. OHACKET, RETAINING FIBER HIGHT | ORACKET, RETAINING FIBER RIGHT |
BRACKET, RETAINING FIBER LEFT | BRACKET, RETAINING FIBER LEFT
4 PLACE EXPRESS EXIT 4%X4 ON STRAIGHT SECTION AS SHOWN. 'NSERT. BLANK REMOVABLE | INSERT, BLANK REMOVABLE
5. LIFT ONE END OF EXPRESS EXIT 4X4 AND INSTALL QUICK KNOBS INTO T-SLOT, INSERT, RIGHT REMOVEABLE | [NSERT, RIGHT REMOVEASLE |
LOWER EXPRESS EXIT ONTO STRAIGHT SECTION. REPEAT FOR OTHER SIDE. INSERT, LEFT REMOVEABLE | INSERT, LEFT REMOVEABLE
ROTATE QUICK KNOBS CLOCKWISE SUCH THAT T-BOLT FLANGES EXTEND INTO ARACKET. FEXPRESS EXIT 4%4 | BRACKET, LEXPRESS EXIT 4x4 |
sWARNING: |F EXPRESS EXIT IS REMOVED FROM STRAIGHT SECTION WHILE OUICK BRACKET, EXTENSION 18" & 24" FGS [9] | | UTLH OB ASSEMBLY !
KNOBS ARE INSTALLED, QUICK KNOBS WILL FALL OUT. R TR SCREW, 6-32 X .25 1
6. ATTACH EXTENSION BRACKET TO EXPRESS EXIT USING 6-32 X .25 LONG SCREWS. SCREW, 6-32 X .25
(4%6 AND 4%X12 STRAIGHT SECTION ONLY) COMVSCOPE INC
7. INSERT QUICK KNOBS THROUGH BRACKET. ROTATE 90° AND INTO T-SLOT IN S— thut ! :
STRAIGHT SECTION WILE INSERTING BRACKET INTO EXPRESS EXIT SLOT. HECTOR URERO KIT, BRACKET, RESTRAINING, L/R, FGS
ROTATE QUICK KNOBS CLOCKWISE SUCH THAT T-BOLT FLANGES EXTEND INTO (CUSTOMER DRAWING)
T-SLOT.  SEE DETAIL A. ENGINEER STZE SCALE DOCUMENT1N1O47583 ADC
RUBEN ARVILLA
8. TIGHTEN (4) QUICK KNOBS COMPLETELY. /X Z? 1. 000 -
REVISION] SHEET
ONLY AVAILABLE IN CATALOG FGS-MEXP-E-A/B/F @% CUSTOMER DRAWING ] 5 OF 5
| | 2 | 3 5 4 6 7 | 8 | 9 | 10




EXPRESS EXIT 4X4

FEXPRESS EXIT 4X4

,
(L
&)

K&
\‘\ 2\

v

4%6 STRAIGHT / \
SECTION REF :
\ AX4 STRAIGHT
SECTION REF
\
BRACKET, EXPRESS EXIIT 4X4
|
J_', SCREW, 6-32 X .25 (4)
BRACKET, EXTENSION | ‘% .I
8 &
| | BRACKET, EXPRESS EXIT 4X4
OUICK KNOB @
ASSEMBLY <4>\@]
FXPRESS EXIT 4%4 SUTEI RO AR L FXPRESS EXIT
INSTALLATITON AX4 INSTALLATTON
4X6 STRAIGHT SECTION AX4 STRAIGHT SECTION
SCALE  0.400 SCALE  0.500

COMMSCOPE, INC.

DRAFTER TITLE
HECTOR URERNO KIT, BRACKET, RESTRAINING, L/R, FGS

(CUSTOMER DRAWING)

ENGINEER SIZE SCALE DOCUMENT NO.

RUBEN ARVILLA A2 000 1147583 ADC

@y CUSTOMER DRAWING o1

0 3 4 5 4 6 7 | 8 | 9 | 10




2 3 4 5 ! 6 | 7 | 8 9 10

{:] COVER EXPRESS EXIT 4X4

4X12 FLIP COVER
FGS-MEXC-E-F
REF o

-
N
I

[
S .
- . — .
—_—  —
,/——"”."\_ =

4X6 FLIP COVER
FGS-MEXC-E-B
REF

FXPRESS EXIT 4X4 rihﬂggég..”;r
4X4 FLIP COVERJ/k%f
FGS-MEXC-E-A
REF
=
“N%a@\

EXPRESS EXIT 4Xx4

COVER Orr VIEW

FLIP COVERS NOT [INCLUDED

N KT
SCALE 0400
412 STRAIGHT
SECTION REF
| BRACKET, EXPRESS EXIT 4X4
L % | SCREW, 6-32 X .25 (4)
BRACKET, EXTENSION | a
&
) @ FXPRESS EXIT 4X4 FOUNISCOPE, TN
T : "MEKIT, BRACKET, RESTRAINING, L/R, FGS
QUICK KNOB ASSEMBLY <4>ﬁ\\\\*§ﬂ£§§@ [INSTALLATITON AECTOR URENO (CUSTOMER DRAWING)
4>< ‘ 2 STRA ‘ GHT SECT ‘ ON ENGINEER SIZE SCALE DOCUMENT NO.
SCALE 0,400 BRI ARETLLA A1 000 1147583 ADC
REVISION] SHEET
@  CUSTOMER DRAWING [y 1.% -

2 3 4 5 4 b 1 | 8 | 9 | 10




2 3 4 5 ! 6 | 7 | 8 | 9 10

EXPRESS EXIT 4X4

EXPRESS EXIT 4Xx4

4X24 STRATGHT
SECTION REF

BRACKET, EXTENS ION

QUICK KNOB ASSEMBLY (4)

CAPRESS EXIT 4X4

INSTALLATTON

4624 STRATGHT SECTION
SCALE  0.320

4X18 STRATGHT
SECTION REF

BRACKET, EXTENSION

QUICK KNOB ASSEMBLY (4)

CYPRESS EXIT 44 COMMSCOPE, INC.

DRAFTER TITLE

-
AXT8 STRATGHT SECTION ERGTNEER STTE SCALE [ DOCUERT 1.

RUBEN ARVILLA L7100 036 1147583 ADC

@y CUSTOMER DRAWING [5o155 s

2 3 4 5 4 6 7 | 8 | 9 | 10




	Sheet 1
	Views
	main_view
	top_14
	new_view_18


	Sheet 2
	Views
	new_view_21
	bottom_21
	new_view_26


	Sheet 3
	Views
	new_view_27
	new_view_29


	Sheet 4
	Views
	new_view_24
	new_view_30


	Sheet 5
	Views
	new_view_40
	new_view_44



